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0.1 115. Hausaufgabe

0.1.1 Analysis-Buch Seite 256, Aufgabe 15h

∞∫
0

x2e−x dx =

∞∫
0

x2
(
−e−x

)′ dx = lim
α→∞

[
−x2e−x −

∫
2x

(
−e−x

)
dx

]α

0

=

lim
α→∞

[
−x2e−x + 2

∫
x

(
−e−x

)′ dx

]α

0

= lim
α→∞

[
−x2e−x + 2

(
−xe−x −

∫
−e−x dx

)]α

0

=

lim
α→∞

[
e−x

(
−x2 − 2x − 2

)]α

0
= 2;

0.1.2 Analysis-Buch Seite 256, Aufgabe 16

a) Für n 6= 1:

a∫
1

ln x
xn dx =

a∫
1

(
x1−n

1−n

)′
ln x dx =

x1−n

1−n
ln x −

∫ x1−n

1 − n
· 1

x︸ ︷︷ ︸
x−n

1−n

dx


a

1

=
[

x1−n

1−n

(
ln x − 1

1−n

)]a

1
=

a1−n

1−n

(
ln a − 1

1−n

)
+

(
1

1−n

)2
;

Für n = 1:
∫

ln x
x

dx =
∫

I(ln x) (ln x)′ dx =
∫

I(t) dt = 1
2
ln2 x mit

I(t) = t;

c)
a∫
0

xn ln x dx =
[∫

ln x
x−n dx

]a

0
=

[
x1+n

1+n

(
ln x − 1

1+n

)]a

0
= a1+n

1+n

(
ln a − 1

1+n

)
;

Speziell für a = 1:
1∫
0

xn ln x dx = −
(

1
1+n

)2
;
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